Big Exam #1 Use both sides. Put your name at the end
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#1: My mass is 70 kg, and the mass of my bike is 10 kg. X
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I'm riding my bike at a speed of 10 m/s on flat ground. ) - &_I :
At t = 0s, my position is x = -15 m, then | see a car. At t = 1 [ 1= -==’—-"’"‘f=4""“
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[ apply my breaks, and smoothly slow to a stopovera _gm .
period of two seconds.
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a) Please graph my acceleration, velocity, and W
displacement as a function of time. Label the axes .
correctly. Then please also find: Y

b) The force exerted by my breaks; ‘g/

c) the work done by my breaks and the average power.
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d) Was energy conserved in this process? How?
e) Was momentum conserved in this process? How?
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#2. On your trip to Dubai, you visit the tallest building'in the world and select the “extreme” elevator. Near

the end of the assent, you find yourself standing on the ceiling of the elevator, upside down, on your scale,
which reads 100 N. This is surprising to you because your mass is 50 kg.
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a) What does the scale usually read when you stand on it?

b) What is your acceleration at this-mement standing on the ceiling of the elevator?
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